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chel Mgl
2017 2017 =ZHB-A)
o £ = 1=xg | 2xt5Z of & A F U o (g9l :o8)
(A) (B) | 6| B(%)
g A 2,873,148 2,647,985 225,163 8
Atedgl | Al A~ A 970,517 921,596 |- 48,921 | - 5
Ared ¢l 33,361 33,160 201 | - 1 |RIEALL A BLR| 2| 21,820,000
X287 M AL H| 11,339,990
”il)\zl,ﬁ”ﬂ 241,032 192,717 | - 48,315 | - 20 ZJME%%F%QEMW%M 102,557,800
2| 2
ColEE T M| AAY 90,159,640
Kt?fﬁf:cf 168,080 | 181,168 | 13,088 8 |[2=moyoy =2 0l228 = 24,500,000
(20174 oH&EH) £20F =| 25,000,000
EF/HS =] 42,000,000
EEAMEF =| 50,000,000
™ = 25,915,030
Ho|®M(cu)=| 12,300,000
o &4 o[ A ojA&EF = 15,000
(20174 o EHO|X}) &H2ot = 15,000
ERUS = 15,000
EEMER = 15,000
Y = 15,000
Ho|®™(cu)= 5,000
X Kb 9 E = 1,372,500
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(B)

418,727

M E o A (el H)
HiO| A5t A = 39,148,225
£&8Ro} = 12,219,822
S2H|& = 37,026,160
CEMER = 24,215,031
e = 90,243,981
A OEM|EF = 84,706,250
Hto| A5t A = -
ojA2F = 16,000,000
&850} = 1,600,000
22484 = 12,000,000
EEMER = 14,000,000
EhE = 11,284,076
Ho|H (cu) = 7,380,000
X|RHH 9 EF = 823,500
Hio|Z St A = 835,880
giolzof = 4,800,000
&0} = 552,900
2244 = 4,000,000
EEMER = 4,500,000
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(B)

)
Y = 3,761,330
AR = 4,600,000
Hol® (cu)= 2,460,000
X XbA 21 & = 274,500
jAER = 5,000
&m2ot = 5,000
EFHE = 10,000
CEMER = 10,000
e = 10,000
Hfo| 35 A = 535,540
Holgo = 4,800,000
&H2ot = 552,900
ERHE = 4,000,000
ERMER = 4,500,000
Y = 3,761,330
Ho|H(cu)= 1,000
X|XEx S & = 274,500
Hto| 35t A = 835,880
Holzgof = 699,530
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2017 2017 =ZHB-A)
o 5} = 1R EA RIS of & & & W o (el H)
(A) (B) g | HIS(%)
£mot =| 2,471,600
ER761E =| 3,831,730
CEMER = 4,527,360
M = 5,671,320
MQEMIEF =| 5,793,000
ngf;izo o1,375 | 95,824 | 4,49 5 |2 Zo1xt O AEF = 1,000
&2o} = 2,000
2RSS = 3,000
CEMER = 3,000
A - 3,000
Hdzlg4+ola &m0k = 6,150,000
E761E =| 1,950,000
EEMER = 9,700,000
B =| 1,095,280
Dasf/ = -
Held(cu) = -
X XbAH B = -
M= &m0} =| 12,450,000
E761E =| 10,450,000
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2017 2017 Z=ZH(B-A)
= El = =4 2Rt =24 of & & & of o (el @ )
(B) A | HIEZ(%)
CEMER 11,000,000
&y 1,095,240
HelE (cu) -
2 2o} = 2,450,946
=R S 16,714,721
EEMER 4,950,150
&y 3,619,603
M QM| EF 14,185,854
1,597,710 173,669
1,587,770 173,669 B = E:1A[=70:9:21 277,389,000
EEI_”;.EF;IL%%@FA}H%EIK} L A[=70:9:21 = 31,500,000
At HE| 2 =2 2EAI=70:9:21 =| 26,754,000
At M SR ALY 25,000,000
A== ME gz X|¥= =| 10,800,000
15,000,000
Jls2 19,800,000
?%g%ﬁ;%uiw) x| @ = 133,271,000
AtghAle 22| (gateway) =| 103,500,000
Hlo| A3 A =| 108,800,000
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2017 2017 Z=ZH(B-A)
2t 3 2 12422 | oxza of & & F U oo (el )
(A) (B) oK =~ H| (%)
ol42% = 108,320,000
£20f=| 87,100,000
S2uSANY =| 109,270,000
e 99,400,000
MOEMIEr =| 101,143,000
=2MER = 125,160,000
X RHH B2AKY =| 146,600,000
CUM 477 48,400,000
sHAIRolZdb] = 10,562,740
9,940 9,940 ZARIS SR B E D (£:A1=20:80)| 9,940,000
22,000 19,486
SEXE 21,500 19,386 2*7%_?125;'([3?}; g7t 700,000 %2 1,106,380
e o= 200,00024+1170" = 2,200,000
;ﬁ?g:’ B0l =HE = 60,0002 <1274 =| 1,300,000
ofM7bE ZIBMA | X2 900,000 +1% 900,000
gi‘fzﬂ;ﬂ% asrE 100, 0008 «2 200,000
iEiEIHE Held m= 450,0008 %6 2,700,000
gﬁgi;ﬂ Hassans 2,040,000 +2% 4,080,000
KOGAS 22l Al 3,300,000 +1% 3,300,000
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2017 2017 Z=ZH(B-A)
= 1A= A PEN ] of & & & o o (chel )
(A) (B) W=\ HIE(%)
7| Etof 0ol At ¢ JIAIZ b B2 B ALK 2IALY = 20,000
7| Etof 20| Xt5=¢ Lol S EHTEME|AALY = 20,000
7| Etof 0l At=¢ XY = 20,000
Atgtated| 22l (gateway) = 20,000
Hlo| A5t A = 20,000
DjAER = 20,000
&2ot = 20,000
ERSAIY = 20,000
e = 20,000
A QFM|EL = 20,000
EEMER = 20,000
K| RbA| 2 EFALY = 20,000
SHA| & ol 4 H| 5,000
& 500 e 500,000




